o(0 @) (rad)

Ratio

,_.
S
L

a(d cot(d))

=
<
N

1073 -

E o 10T ——prHtr § F
E..... IS E TITEH
é (ndd 1:— """ -+ '""’u I i 5 A
0.955— ----- FHEHAE T H - 0.9F - TEFITF T
9E—~ u AR £ - , 0.8t : > - ,
10 1 TPlpg)T (PCA t%obeamlinélf) 10 1 TPlpoT (PCA t%obeamliné[f)

SICEWATL

—=— DQM_mkFit_TTbarPU50_extractedGeoms_rescaleError100
—e— DQM_mkFit_TTbarPU50_extractedGeoms_rescaleError100_pTCutOverlapOp0
—— DQM_mkFit_TTbarPU50_extractedGeoms_rescaleError100_pTCutOverlapOp0_dynamicChi2CutOverlap

1

z

oo a,) (cm)

107
o10:% =
S 1osk--ooF 1P e g
Y o 1 U O : 1
0'9150:'1 1 10 (:JZ ¥ 0'1%-'1 1 ) 10 62 ¥
TPp, (PCA tlo beamling'f) TPp, (PCA t]b beamling'f)
~ :
2 I R s P T
(e :
D_ .
o L] el T | 1 R
B

H
S
L

10_2 : i e H
1__ """ T ¥+ +I -r:cr 0
09F---- THEH
08t i il L ;
10 ! TPl[:g)T (PCA t%)obeamlin%)o



	Contents
	Page 1


